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pLAUUGLL DUuUGN 605,564.0( 130,000.0 130,000.0| 361,818.0 361,818.0( 113,746.0 113,746.0
wjn pynd
LUuBUSHhY DUUGN 302,454.0 0.0 0.0| 188,708.0 188,708.0 113,746.0 113,746.0
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wjn pynd

yunhsulL veNPaNPNFULENH SUllUGN 303,110.0| 130,000.0 130,000.0| 173,110.0 173,110.0 0.0 0.0
wjn pyntd

YuUMhSUL chuuNruMNHE3UL SUuutN 130,000.0( 130,000.0 130,000.0 0.0 0.0 0.0 0.0
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pLAUUGLL DUuUGN 90,000.0| 90,000.0 90,000.0
wjn pynd
LYuMhSUL SuuGP 90,000.0| 90,000.0 90,000.0
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LLAUUGLL DUUGN 10,000.0( 10,000.0 10,000.0
wjn pyntd
LULBUSHhY DUUGN 10,000.0( 10,000.0 10,000.0
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